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as unfairmeans.
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first page of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
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10. Note thar the answer once filled in ink cannol be changed. If you do nor wish o attempt a
question, Teave all the circles in the corresponding row blank (such question will be owarded
2¢erp marks).

IL. For rough work, use the inner back page of the litle cover and the blank page at the end of this
Booklet

12. Deposit only OMR Answer Sheet at the end of the Test.

13. You are not permittcd to leave the Examination Hall until the end of the Test.

14. If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishinent as
the University may determine and impose on himvher.
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14U/93/4ii)
No. of Questions : 100
Al H[ §edr ¢ 100

Time : 2% Hours Full Marks : 300
w2 wod qorty : 300

Note : {1} This question booklet contains 100 (hundred) questions in all
(30 in Section - A and 70 in Section - B). Attempt as many
questions as you can. Each question carrics 3 marks. One mark
will be deducted for each incorrect answer. Zero mark will
be awarded for each unattempted question.

g uvi-gRas ¥ @ 100 () 997 & (@ow- o H 30 7
wqos-q # 70 )1 AHYE S B BN FIA W OIS B
g% 9 3 (A=) oiFt @1 B 99w I9@ Iav ¥ T &%
I HET AW TAH FITAWA 5 AA® g B
(2) H more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

i} o Jaias IoT adt ST @ Feee wdita &, @ Freeem
9 I 21

3 PO,
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14U/93/4{ii)

01,

02.

Section-A
Tqvres-I

P.W.D. Act, 1995 is related to -
(1) People's works department
(2) People's welfare department
(3) People with Disabilities

(4) People with disease

flo g&-J0 &to mwae, 1995 P T g :
(1) 9gew gt RBadre
{2) 99T AP Reurddse

) W R RauReE @
(4) 93 Rz R

(1) Lucknow (2} Bhopal (3) Banpalore (4) Delhi

ﬁ‘wmeﬂtﬁﬂ?ﬁéﬂlqﬂg HIgHo
it ft‘!ﬁl' i
1) IFFd (2) g 3 (3) ?‘ﬁﬁ'{'ﬂ (4) %ﬁﬁﬂﬁ

The Cabinet of which state in M

: arch 2012 decided to give a
Rj ' 39,000 to high school pass Muslims girls for pgelm g theon
cducation and marriage ? sing their

(1) Uttar Pradesh (2} West Bengal
(3) Andhra Pradesh (4} Delhi

(1) ST 9331 (2) <fewm s (3) areer Ry (4) feeeh
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04. Who wrote the famous book - 'We the people’ ?

(1) T.N. Kaul (2) J.R.D. Tata

{3) Khushwant Singh (4) Nari Palkhivala

“dt g qige” AnTE HOg g e fordt ot 7

(1] dlo TTo HE A (2) Fo Ao JFto TET A
3) gy fHz A (4) AFN OreEEET

05. Thc theme of the 11" global monitoring report 2013-14 of UNE3CO
was

(1} Teaching and Leaming : Achieving quality for all
[2) World Peace : Education and value

(3) Environmental Pollution

{4) Women Empowerment and Education

T o gredt Wee Afftrefer RaE 2013-14 % g@ v @
(1) AfET goz afffl - o =l st ofle

2) @@ drg : Rew A 3

(3] FEEM=A dIEIH

(4) THA FUETERE TOF T

06. Who is the present director of NCERT ?
(1} Prof. J.S. Rajput
(2) Prof. Parvin Kiran Sinclair
(3) Prof. A. K. Sharma
(4} Prof. Krishna Kumar

gio A oA & FRys H 2 7
(1) @, N.F. IJETG 2) . wfT B Remeat
(3} W. T. &, o (4) WY, HET AT

5 ’GTID.
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14U/93/441i)

07. NEUPA was established in ;

(1) 1976 (2) 1986 (3) 1996
AT A e g R
(1) 1976 % (2) 19867 (3) 1996 &
08. NIOS is known as -
(1) National Institute of Open Schooling
(2) National Institute of Open School
(3) National Institute of Overseas Schooling
(4) National Institute of Open Scholars
Q7 o S TH W oy B
(1) e =Aege ol i TR
(2) AT FeieTE ol oMY
(3) AW FAYE i siaxadior wpfetT
(4) Ara FEICYE IAI% oMY @it
09. EDUSAT satellite was launched on
(1) 20 September, 2003 (2} 20* September. 2004
{(3) 20" September, 2005 (4) 20" September, 2006

%ﬁgmqawﬁHW:

(1) 20 ==z, 2003 M Regr w7 o9
(2) 20 Ryaaz, 2004 #t 3y Ty ey
(3) 20 foera, 2005 FY a1 T o
(4) 20 frr=w, 2006 I By =t o

2006 §
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10.

11.

12.

13.

140793/ 4(li)

The full formof NTS Eis:

(1) National Technician Search Education
(2} National Teacher Search Examination
{(3) National Talent Search Examination

(4) National Talent Selection Examination

o & ww £ W Oq A ®

(1) Azaw TEFARET a< ohaE
(2) ATEE SeX 9 weenPreE
(3) AT T TE FFHANT
(4) A7 QAT | FEFTAAA

3, 10, 101, ?
(1) 100101 (2) 10201 {3} 10202 (4) 11012

If S is the brother of N, the sister of N is M, the brother of P 1s J and
the daughter of S is P then who is the uncle of J 2

(1) J 2) S (3) N (4} M

AR gAH EE D, AR qET 7R, T H WG AL TN HH A
q % &Y o & e DA § P

(1) = 2 1 3} = (4) H

Child ; Family :
(1) Flower : Bunch (2) Bird : Set
(3) Calf: Herd {4) Deer : Gang

T P.T.O.
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14,

15.

16.

17.

18,

e ¢ giarT -
(1) T : =8 (2) T&fEm : S9e
(3] BT : Yoz (4} AR : ¥y

Which word does NOT belong with the others ?
{1} leopard (2) Jaguar (3) clephant (4) lion

ﬁwﬂﬁﬁammmﬁmﬁmﬂﬂ%?
(1} =far (2) gawr (3) et 4) X

Which word docs NOT belong witly thie athers P
(1} pguitar {2} fiute (3) wviolin (4) sitar

ﬁrrﬁﬂﬁa%ﬁamﬁﬁwﬁ‘waﬂ%?
(1) Prr 2 =g (3) amfe (4) faa

FAG, GAF, HAL, IAH,__
(1) JAK (2) HAL (3) HAK (4) JAI
qqitlﬁﬂ,x‘rﬁt!mﬁ,tﬁrr{mé,mﬁqqa, ....... [

() ITd ) Woew (3) wwod (4) S o om
Life is related to Death in the same way as Hope is related to -
(1) Sad (2) Despair (3) Pain {4} Cry

Wwwawm%%aﬁmrrmﬁaﬁqa%:
(1 3@« 2) PFrem @ (3) = & (4] e |

Mind : Body ::
1 : Al
'[3]) ::te:.' : 4"%1r (2} CPU : Hard Disk
1p : Oil (4) Software : Computer
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19,

20,

21.

14U/93/4{})

"7 R o
(1) 9T : & @ @iy
(3) e A (4) |RAGT : TN

Which number would replace question mark in the serics

7,12,19,?739

GETATES D W 9T HF 413 ¢

(1) 29 (2) 28 (3) 26 (4 24
Secretly is to openly as silently is to .

(1) scarcely (2) impolitely

(3) noisily (4) quietly

A Nudar gRaT & RA ¥ 3 P

(1) gower & R ¥ 2 M= RAL

3 TS & Al 4 i RAL

In order to modify the undesirable behaviour of a student the most

effective method is :

(1} To find out the reasons for the undesirable behaviour and pro-

vide remedies
{(2) To bring it to the notice of parents
(3) To punish the student
(4) To ignore it

') P.T.0.
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23.

(2) Sif=vEt B giua e
(3) BF | Tz 7
(4) ST IQET Hen

At authoritarian level teaching is :

(1) Teacher centered (2) Child- centered
(3) Headmaster centered (4) Experience based
FigaT &R %1 faverer -

(1) orarges dftsd den 2 (2) 8= P A B
(3) NUTTEANE BET ST ¥ (4) sgwa sneiig 3

What type of teacher would you like to be ?

[1) A teacher who teaches the whole curriculum

{2) A teacher who helps his students in learning

(3) Teacher who is a fricnd, philosopher and guide of his students

(4) A teacher who maintains good discipline.

AT 68 ST B AsmwE g SR ?

(1) mwuqsﬁhfasg\%tnqqa;qaaqm%

(2) mwﬁmﬁﬁmﬁwq‘ﬁﬂmwé
13) awmfﬁﬁhvrﬁrmrﬁa,ma‘?ﬁrcﬁaﬁ?m%
(4)  STEHTIH S IS HAYIET A &

10
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24. You are teaching a topic and a student asks a question unrelated to
the topic. What will you do ?

(1) You will permit him to ask unrelated question

(2) You will not permit him for this

(3} You will consider him as undisciplined and punish him

([4) You will answer the question after the class

9 HET 7 UF YIS ToT @ ¥ R um o U ¥ sHatug 9w
AT &1 ST M HAA 7

(1) AU IQ Ira«fm 999 gea @t Al &

(2) M9 I FAdafed A¢ U AN AR € &

(3) o9 IR gEA rgEfa E |

(4) 39 FEOTT FHH I A

25, 1f a student gives wrong answer to your question you will
{1) Scold him for not having learnt his lesson properly
(2) Explain why his answer is wrong
(3} Ignore the wrong answer

(4) Ask another student to answer and ignore hm

AR o B A H9 H THd IT a1 & a9 A
(1) I o9 q= @ S § 7 9T & R s
@) W% W= B BF SwEr I T 2

(3) T IR 9T e FE A

@) TRl gER B @ Iw 37 @ Y ol SER W Wt

11 P.T.0.
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26. If I will become a teacher my most preferred activity will be to
() Give important questions to students before exarnination
(2) Dictate notes in the class
{3) Clear their difficulties regarding subject-matter
4] Make student disciplined

R O STAH T S G A 9w AT = @
(1) 9T ¥ gsct BET B qeEqe geT war 37

(2) <= F Freq 2

(3) ﬁwaﬁﬁmﬁaﬁmﬁﬁgm

(9) BB W MG FHE

27, F-‘nr becoming a good teacher, the most important quality of a person
LS .
(1) Genuine interest in teaching
(2) Knowledge of his subject
(3] Ability to control students
(4} Ability of good expression
gwmﬁ%%ﬁ,@wﬁﬁﬁwﬁwm
(1) ey 3 aRm oy @
(2) Y9 H1 = &
(3) BEl FH Pt @Y 2 dhgar gl
(4) = Af¥=f & dvaay @

12
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28. A teacher should plan his lesson before he goes to his class, because

29,

it helps him to :

(1) Satisfy parents

(2} Create happiness in the classroom

(3) Achieve curriculum goals

(4) Assign home work and classroom work

TF AGE H BT § T T 9B 8 39 U & SIS 597 O
o3 =4l a8 IO "eEar Ay © o

(1) SAIEH H I FE |
(2) HEW & A= ST HET F
{3) UIZTHH & WG W Wik #
(4) TEPH ud FAHR WEH FA F

“Every school ! subject has a disciplinary vatue,” it means, that :
(1} It brings discipline among students

(2) It teaches certain habits and qualities to train the minds of
students

(3} Every subject is the outcome of the work of disciplined thinkers

(4) It requires disciplined methods of teaching

“reaen el e & O O AgIrEeT e o B, §HE
Afemra & i -

(1) ZE Bl # AT arr 2

(2) a% BEl @ ARaws H o ot wd ot § aiida s 2
(3) S R Antae Riowt @ of &1 I §

4) T orgiaa Rt iy @ srevasr ol

13 P.7T.0.
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30. Indian education put emphasis upon :
{1) ‘The tradition of Indian society
(2) To give Honour to elders & teachers

(3} Cultivation of values
(4) All of the above

IS e qeey 3 B

(1) AT a9 99 gogq gy
(2) NS wd FBt B yene yx
(3) AT Gephy $ waeiw oy
(4) IudwT g9 gy

14
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Section - B

oS-

14U/93/ &{ii)

31.The direction cosines of the normal to the planc x + 2y + 2z - 1 = Q are:

T x+2y +2z- 1= 0 $ Ifwa=w #t Ry v € -

33,

33.

(1) (2)

Lad |
Lod | oo

*

jw W]

1
* 4
> 4)

Lo | —

(3)

The radius of the circle :

G| B
G | B

o | v

£ | me
| —
On |

X+2y+2z= 15, X +y +2z -2y-4z=111is:
TA x+2y+2z=15,xX +y +2 —2y-4z=11 % B & :

M 3 (2) s (3}
yz =x has :
(1) One asymptote (2)

(3) three asymptotes

y2=xﬁ i
{1) UH I
(3) & orFoeRTar

()

(2}
(4)

The equation of the sphere is :

e B T @
(1) 9 (x’+3;z+z2]-= 5
(3) 3ty +z =10

(2}
(4)

) §.

7 4) Vi

two asymptotes
no asymptote

& AT
H1E =it Fdi

xz+2yi+ 32'=9
Xy =5

».T.0.
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14U/ 93/ a{i1)

36, A square matrix A js non-singular if

Th T NgE A et 3 af

(1) Az (2) |A]=0 (3) |A|=0 4} A’=0p

;ﬁfﬁaﬁtxwéfﬁmﬁﬂf&zﬁmﬂmmaﬁo(ﬂnx}
(1} © (2) 1 (3) O(H) (4) O(Kj

38. If G is & cyelic
s Cycic group of order 13 then the number of generators of G

() 5 ) 6 (3) 8 (4) 9

! ¥
40 ] hE ol dEI" Df i"l] ﬂf t-hc multipllcatl veé grﬂllp {I ‘l i 1} -fﬂ'
' ¥ 3 - :

W“’ﬂi‘{h-l,i.-i} A (i) o1 oy B .
(1 1 {(2) 2 (3} 3 (4) 4

16
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2 21
41l. The eigen values of matrix : b3 1 are :
1 2 2
2 2 ]
() 1,1,5 (2) 1,3,5
3] 2,3,5 4) 1,3,7
2 3 .
42, IfA~= | 4| thenATis
2 3
a ‘”“[1 4], LS ¥
4 B 4 2] 3 3
5 3§ 7T 7 5 7
m |12 @ f1 2 @ |12
¥ 5 7 7. L2 5

43. The equation

(1}
(2)
(3)
14)

11 x x?
x> t x|=0has:
x x° 1

only two distinct roots

two pairs of equal real roots
on¢ pair of equal real roots
three pairs of equal real roots

17

14U/93/4{il)

(3)

W= |
W LW

P.T.0.
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14U /93] 4{ii)

I x x
FNFECT |x° 1 x{=0 F :
x x! 1

(1) 5 X /A g &

(2} B I FUET gt g §
B) UF TH FOT AT g ¥
(4) fﬁ?gmm?armfaaaﬁa%

44. The value of J"E ™ dx is
i

L ]

J‘u'r;e""dx H AN B :

JE 2n
m 5

2n Vx
@ 3 @ 4) V2x

5. A man walks at a speed of 6km. /hr. for 1km. and 8km. /hr, for the
next 1km. His average speed for the walk of 2km. ig -

qmamﬁﬁﬁﬁmaﬂ%ma%ﬂméxﬁﬁam%aﬁtw
lmo,sﬁqxﬂcmﬂmﬁm%:maﬁﬂawg

oo oo o 8
41

1) =-—km.

(1) = km./hr. @) > km./hr.
18

3) — km./hr. 3

) —km./hr @) 5 km./hr.

18
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46. Two badies of masses m and 4m are moving with cqual kinetic energy.

The ratio of their linear momenta is

m 3T 4am AAF B N Mg swER - o1 B g e & 1398
s ol & ST9™ 2

(1) 1:4 (2) 4:1 (3) 1:2 (4) 2:3

47. The envelope of the family of lines y = m'x o is :

(1) circle (2) ellipse
(3) parabola (4) hyperbola

Sl y = mx+—3 B B ST B

(1) g (2) 4 g
(3) 9ETH (4) kY s@eg

48. The angle of intersection of the curves y = 4 - x andy = X i8 :

ﬂiﬁy-4—x2@1y=x2%aﬁﬁﬁﬂﬂﬂﬂﬁlﬁgf
- a2 A2
o= m = ) o lf

49. The asymptotic, parallel to the axis of x, of the curve
ya+x1y+2xy=—y+1=0is:
Em;y"’+x’y+2xy’—y+lzoaﬁ x-378] & GHFAY Fraeam ¥
(1 x=0 2) x =y 3 y=0 ¥ y=2x

19 P.T.O.
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14U /93 /4{i1)

log x
§0. lim cot . VS €qual to :
iim-—-lﬂgx
ot T W ST § -
(1] © 2} 1
X FSinx
51, -[iTc_us—x 1s equal to :
J-x+sinx dx
1+ cosx ”“[%:
X X
[l] xsmz {2) XC{}SE

- i
52. The value of 1'-52?-; F(n’—r’) i :

m-1 l

L @ 3

(3)

(3)

(3]

1

2

X tan~
2

i

4

4) 3

4) xtanx

(4)

oh X

53. Ify =~ 2x’ - 9x°
Iy =2x%"-0x*+ 12x + 25, the values of x for which oy =0 are :

dx

Hﬁyrzx’-gx’uzst,x% T B e R, 3
dx :

(1) 1,2 2) 3,4

20

(3)

1
718

4) 5,6
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54.

5S.

$6.

57.

14U/93/4{ii)

SLV-3 uses propellants :

(1) Solid (2) Liquid
(3) Solid-liquid (4] Biliquid
ud oF ar-3 § Fore aier waer @ar @ -

() & (2) aH

{3) G-I @) SERREs

Which of the following halides is most acidic ?

forer 2ozl & 9 wed otftres vl B 7
(1} PCl, (2) SbCl, (3) BiCl, (4) CCl,

The first use of quantum theory to explain the structure of atom was

made by :
(1) Heisenberg (2) Bohr
{3) Planck {4} Einstein

n) NREawEt  (2) W (3) B (4) ST

Which metal is used as a coating on steel to prevent corrosion 7
sﬂlﬁﬂ?ﬁﬂﬂt@iﬁtﬂﬂﬁ%ﬁﬁmﬂrﬁm%m:
(1} Na {2) Ca (3) Cu (4} Zn

21 2.1.0.
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14U /93/4(11)

58,

59,

60.

It the specific conductance and conductance of a sclution are same

the cell constant is equal to :

R el faeas & Rftne S o
oSy | Tq 9% T & & o S

(1) 0O 2) 05 (3) 1.0 {4 10.0
z:;l;nogc of the following will lower the activation energy for a
(1} Addition of a catalyst

(2} Increase in the concentration of reactants

(3) [Increase in the temperature of the reaction

[4) There is no way to lower the activation energy

Wﬂmmmmﬁwmmm?
() f SO P e |
(2} T @RSt @1 "z g2 |

(3) FRAT #1 aram Fer &

(4) Hﬂﬁwwiﬁmﬁiﬁmﬁtﬁqaaﬁrmfh%

The normality of a solution of sulphuric acid is L
10°
be :

gmﬁmw$Wﬁm%%ammw

Its molatity will

M
(- 2) % M M

22
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61.

62.

14U/ 93/ 4{1i}

TNT.isa:

(1) Medicine () Vitamin (3] Disease (4) Explosive
glot-odlo B U :

(1) & 2) R (3) dad 4} Rreres
The massless particles are ;

(1) a-rays (2) Pp-rays (3) r-rays (4) protons

#oaT e w97 e-Fest ot -
{1) o-FFTT 2) p-FTor (3} y-FRew (4] Srem

Isotonic solutions have :

(1} the same freezing point (2) the same boiling point

(3} the same surface tension {4} the same osmotic pressure
IR e § o ©

(1) @ & féwim (2) TF & IqYAS

(3) T & y= Tq (4) TF & TOEO gE

A systemn absorbs 100 KJ heat and performs 50 KJ work on the

surroundings. The increase in the internal energy of the system is :

T® @F 100 KJ IS i FHar & SiT 50 KJ F 9RATT Q1 sk
FHTET & N IF aF FH a=afiw Hat A gfx Bl
(1) 50 KJ (2) 100KJ {3) 150KJ (4 500 KJ

23 P.T.0.
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68. The efficiency of a heat engine operating between 400K and 300K is:

?@mmaﬁmoxqﬁaoox%ﬁawm%,wa%m
(1) 1.0 (2} 0.75 (3) 0.50 4) 0.25

U
66. For areal gas, ('3?] is :

{11 Zero {(2) Negative (3) Positive (4) Infinity

Rt e e & o, (2 e @

(1} g (2) RUTTEH (3) gToTH (4) =
67. The intensive property is :

=] &9 97 B

(1) AU () AH (3] AG (4) C

68. The unit of surface tension of 5 liquid is :

el za 2 g ae o ghE Fre 2y -
(1) Kgmls!' (2) Nm (3) Kgm?s' (4 Nm?

69. The particle size of colloids ranges in between :

(1) 1-10nm. (2l 1-50mp

(3) 10-100 pm. (4} 1-50 um

Eﬁrmggwﬁmmﬁﬁw%ﬁa@m%:

(1} 1-1099 fo (2) 1-50FRfo gra

(3) 1- 100 7mgest Ho 4) 1-50mEEH Ho
24
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140 /93 /4(ii)

70. Al nucleophiles are :

71.

72,

{1} Arrhenius Acid (2} Lewis acid
(3) Bransted base (4) Lewis base
a4t gRRrwRe aa @

1) FfeF=E ord (2) IZH oA
(3) ARLT &R 4) T[FQ &

Vinegar is a :

{1) 75% solution of acetic acid in water
(2) S50% solution of acetic acid in water
(3) 25% solution of acetic acid in water
(4) 40% solution of formic acid in water

a8 8

(1) 75% f&fes ofis = s/ | o
(2] 50% uftifes ofys @ o/ & o)
(3) 25% afafes e &SI 3 9l
(4) 40% Wit ofas @ 9o 7 9

Which of the following compounds will give a positive test with Fehling's
sglution ?
(1) Formaldehyde (2) Acctone
(3) Ethylacetate (4) Acetic acid
Fre AFs § @9 SR Bemw @ 9 SHTEs 9ie w7
(1) witEieRs (2) wERA=
(3) uitTHRe (4) uidiRRew oftE
25 P.T.O.
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14U/93/4{i1)

73. Acetic anhydride is obtained by the reaction of -
(1) Aceti¢ acid with sodium
(2) Acetic acid with diethyl ether

(3) Acetic acid with water

(4) Acetic acid with PO,

qﬁ:&maﬂmﬁssmﬁm%ﬁw%ﬁmﬁ:
(1) of&fes opw 7 difegy §

2) ufefeds o7 o1 o1 swEmEET Q

(3) iR arst &1 9t Q

(4} mwmmmmma

74. Dicthyl ether on heating with excess concentrated Hl gives :
(1) Methy! iodide (2) Iso propyl iodide
(3) Ethyle iodide (4) n-propyl iodide

WWWWWW@@W Iqirefy

(1) Prage smers (2) TFEl Waige oMeiEEs
3) Fensr smieTRS (4) CF-siTE ardtes

758. How many isomers are possible for hexane ?

TR B Pt wovae g & 0
) 4 @ 5 (3) 6 (4) 7

46
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76.

T7,

78.

79.

14U0/93/44{ii)

Which of the following hydrocarbons has the shortest ¢-¢ bond length ?

Frst sl ® BEa c-c 9 @91 999 &9 gt & 7
(1) CH,=CH, (2) CH, CH,

(3) HC=CH (4) @

For Compton scattering at 90° the effective sluft in wavelength is °

60°qT Fraed fadiiens 3G a7 S F gHEl WErFET B AR
(1) 0.242 A° (2) 2.42 A°
(3) 0.0242 A° 4) 0.00242 A’

If the separation between the two slits 1s d and the width of each slhts
be a then what requirement must be met for the central maximum of
the envelope of the double slit fraunhofor diffracation pattern to contain
exactly cleven fringes :

gfr  Rere fosran) @ e @t d d TaF fee i e
a%aﬁaﬁaﬁﬂ)ﬁum EEABI & e &

Fae e @ Hed B 8g STawE I B
d_13 d_11

m -5 @ ;77 ©

15

— 4 .EI..:
2 (%) A

S
12|~

A star emitting light of waveienght 5896A° is moving towards earth

: : ;] ;
with a spced of 3600 km. per sec. If the speed of light is 3x10° m.;
sec, then the apparent wavelength to an observer on earth well be
about :

o oI e FYEa ara Seei 3 GO ed 5896A° 3, gEh W
maeoukm.,rsecsé\an%agm%uﬁuﬁmaﬁrmasm‘ﬁ./ﬂ.
@r,aaﬁma\?zﬁaaw%,aiﬂ&ﬂimgtmam:

(1) 5825 4A° (2) 5967 A° (3} S871A (4) 5921 A°

27 P.T.O.
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14U/93/4(li)

80. Two linearly polarized light waves with their planes of polarization at

right angles to each other give rise to

(1) circular polarization (2) eliptical polarization

(3} linear polarization {4} no polarization
:mmmﬁ,hﬂ%gﬁaaﬁwgﬂiémﬁ aq
(1) Tela gt (2) ST gdemer

{3) T sty (4) B$ gl 59

81. A thin less of focal length 12 cm, is immersed in water {u =1.33).
What is its new focal length for the objects immersed in water P

[ 28
e B
p
L(,_ 2
3) u=_.[__) =_‘(ia__
<5 RT (4J P cp RT b]
28
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14U /93 / 4{11)

83. The Maxwell's equation VxE= -—%9 represents :
(1) Ampere's law (2) Faraday's law
(3) Biat Savard law (4) Gauss's law

R vxs=-§ - M Y

(1) offagy fam (2) S8 w1 FrEwm
(3) sHEc &8 w1 FEw (4) 9 W= Fraw

84. If the light is incident on the plane surface of a material whose

refractive index is p at an angle of incidence 6 such that tang = @
then :

(1] the reflected light is completely polarized
(2) the refracted light is completely polarized
{(3) both the reflected and refracted light is completely polarized

(4} the refracted light is completely polarized but the reflected light
is partially polarized

a2 e ST B Reeer B gerd & e T Y st gt g,

Rrae oTqadtis p 3, ol TR B9 g g T € fh tang = o

s -

(1) wwaffa BT @ g axe gdg 2

2) orqafrfa Beor @ it axe gl ¥

13) aqafda wd gaakta et & T e gaga T

(4) TREREs Reor W gl ace ghega ¥, ombs AvaRky T
stiferen &9 § it B

29 P.T.O.
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14U/93/ 4{il)

85. The refractive index of a nonma ic di . .
i gnetic dielectric ma ith di -
constant er is given by terial with dielectric

JHHT YA eny Er%’

87. The break do*r.'."n voltage for a Zener diode is 20 volt, The break down is
(1} due to high electric field in the depletion region
(2) due to high velocity of minority carriers in the depletion region

{3) due to tunnelling of mainr; ,
sigibn, g O majority carriers through the depietion

(4) due to collision of minor; ; : -
the depletion region. ¥ carriers with the majonty carriers in

S lre 1 ST () A 20V § 1 st
(1} 3199 &9 § gox fage @y

(2) Whﬁwwwmh

(3) W@Hﬂ‘ﬁﬁmwgﬁﬁq

30
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88. Kirchchaff's law of junctions for the distribution of current in any
electrical circuit is based on the principle of :

{1) Conscrvation of charge (2) Conservation ol energy

(3) Conservation of momentum (4) Conservation of mass

el faege aftgg & qrr Rexer ¥g Reeete & Siss & Faw s
¥ ¥ Ppu fyera 9 i B

(1} STAN G (2) S e
(3) AT HTAOT (4) FEHE WO

89, The electric potential at the center of a cube of sides of length a with
charges q placed at each corner is ;

2q 1 %q 2
(1} Zero (2) fze a B fre,a W Brea

#mﬁmw@ﬁmat,qammmw
q ot @t gonr B 9ud &= ) Rgda Rva &

q 1 4q 89
1) LA (2) Jne, ¢ (3) Jine,a (4} JB:reua

90. The impurity atoms with which pure silicon should be doped to make
p-type scmiconductor is ?

(1} Arsenic (2) Boron
(3) Phosphorous {(4) Sodium

mmwmmﬁlﬁ@waﬁmywmﬁmﬁ
& fora Pramr s =feg ?

(1) oIS (2) WA
(3) WIERH (4) aaw

3 1 ’.'h-o .
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14U /93 /4{ii)

91. A resistance of 100 and an inductance of 100m.H. are connected in

series with an AC source V = 100 Sin(100t). The i
_ ; ! phase difference
between the current in the circuit and applied potential will be :

T QoHl |IF V = 100 Sin(100t) ¥ TF 190 % W °F 100m.H
ﬂqwmﬁﬁvﬁmqﬁgygw%,wﬁwﬂm@w ‘
& @19 7 HeraT B/ e iR i

(1) = 2 > @ 3 (4)

1A

92. A l;xeat cngine operates between cold reservoir at room temperature
27°C and a hot reservoir at temperature T. It takes 300J of heat from
the hot reservoir and delivers 180J of heat to the cold reservoir in a
¢ycle. What could be the minimum temperature of the hot reservoir ?

%mwmm(mmmzfc)tz&nﬁw(mﬂ

(1) 400°K (2) 500°K (3) 600°K (4] 550°K

93. A liquid cools from 70°C to 60°C in S minutes. Calculate the time

taken by the liquid to cool from 60°C to S50°C if the temperature of
surrounding is constant at 30°C.

() 7 min. (2) 9 min. (3) 6 min. {4) 8 min

wmmﬁm“cé&o’cmwamsﬁwﬁmﬁmw

,aﬁrmmmmﬁo“cﬁrso‘cﬁmﬁmﬂ ST
Wﬁﬁﬁﬁmm‘c%: y =

(1) 7Rme 2) 9RFE (3} 6Rm= (4) 8F==

32
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94.

14U/93/4(1})

The system can be taken from the initial state PV, to the final state
P, V, by two different methods. If AQand AW represent the heat
given to the system and work done by the system respectively then
which of the following must be the same in both the methods ?

TH gvnel B anfwe @ pv A sifcm e PV AE R
fafte=r a0f & amar T 81 aR AQ =R Aw &HEr wonell &
¥ Fon o ufrwr & SRE Bhe Tw R F geffa w@ ¥, @
ffafag # Q@ PF-T1 9% QW et $ R |9 8 7o

(1} AQ 2) AW (3) AQ+AW (4) AQ-AW

When a drop of 0il is spread on the surface of water, it displays beautiful
colours in daylight because of :

(1) dispersion of light (2} refraction of light

(3} diffraction of light (4) interference of light

o Ad N T 4% A 9 & Ges uT BAmar o 8, O 98 R @
gEIT 8 gEgRa T W ae aRar | FHH ST B

(1) SERTET 3 eIt (2) WA W YA
(3) Wy 1 Feamor (4) WHIE H SR
Bernaulli's theorem is based on the principle of conservation of
(1) momentum (2) mass
{3) energy (4} angular momentum
sl TT e g & e 97 o @
(1) €3 (2) =W
{3) o (@) B w2
33 P.T.0.
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98,

99.

i+
(11 - (Ql fn" 3 ":Ti “':-T; !;T! +J',T,
v z @ = 4)
1, L+T,

Two satellites 8 and S
> sa : 2 Tévolve round a planet in copla i
Elr-bn:r:sm th.e yi.ame sense. ’[‘heir periods of revolution apre r;t';: u.l:'“::llm
th; pectively, It [,!IE radius of the orbit of 8 is 10" km th* 1 o
speed of S, relative to S, when 8, is closet to § hen fina
i

(1) = x l(]‘}cm.jh. (2) 22 x 10" km./h
(3) 37 x 10 kmn./h, 4) 4xx 10° km ,:fh |

(1) % x10km./h
/h. (2) 27 x 10%k
h m./h.
(3) 3z x 10 km./h. (4} 4=x 10 km.}fh
A
cylinder is released from rest from the top of an inclined plan h
e wit

|
(1) J>glsing Baiss
- (2) |=glsing 2ol si
3 B (F8lsin6 (g s

34
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14U 793/ 4(ii)

100. A light rope fixed at one end to a wooden clamp on the ground passes
over & tree branch and hangs on the other side. [t makes an angle of
30° with the ground. A man weighing 60kg wants to climb up the
hanging rope. The wooden clamp can comc out of the ground if upward
force greater then 360 N is applied to it. Find the maximum
acceleration in the upward direction with which the man can climb
safely. Neglect friction at tree branch and take g = 10m. /sec?.

{1} 4m.fsec’. (2) 2m./sec’. (3) Im.fsec’. (4) 3m./sec’.

qF 55 TH B T BparT ol 11 12 o w3 @2 @ dar B,
ah%ﬁﬁlﬁmﬁsﬂaﬁhﬁﬂm a0 AR FAeHaT &1 T8
S | 30° 1 BT FTA ¥ | TH foramt Z91 60 fFomo 2,
waﬁ%ﬂ!ﬁﬂ%w&mw%m@%@%ﬁﬁa
q @ B 360 g offrs e s 35 HAEwST & 1 ST
oMY Tl & ey wedor @ e wT I e A T=Em @ReT W/ A=
ma Ak, Rred a8 ol ST @t R # gfa a5 awar 2
(g = 10m./sec?.)

(1} 4m./sec’. (2) 2m./fsec®. (3) lm./sec’., (4) 3m./sec’.

18 2000
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10.

11,

13.

14.

arvafia % foe fadwm
(¥W JRST & TUT ATATOT TV qT AW IW-9F & W gof w
Fuer Il w1l am-anyz 97 & o Hirel)

Wﬁw‘ﬁﬁﬁ%mfﬁﬂz%mﬁ%&ﬁﬁimﬁmﬂwﬁ@%aﬂ{ﬁé
mqm#ﬁrﬁ%%mﬁaﬁmmﬁmmm—ﬁﬂwﬁ&mm
¥t # gud i s o o
;ﬂmaﬂ;?ﬁﬁmmm-w%aﬁmmmmﬁéﬁwmm
T U
-9 07 1 1w &1 3@ 1 0t iy AT 8 g ) g 39 9x o ey omdm
TN FUT-TF &7 ¥ JeAET fovar Iy
YA STTHAS 7Y IR-TF H IS ¥q0 AEROT-T8 R I & i =@ v fad)
m-m%mwﬂw#mﬁmﬁwﬁamwﬁﬁmﬁﬁ#ﬁ'aﬁ
W£$:W-WmﬁWm~WHMMﬁzwmmwm'
o ol
a}a@pMowwammmﬁ'mr##a#W{wﬁ'wm
Wﬂﬂﬂm 3o w0 ro W mﬁwe'qug

'
g wEfEnt ¥ BY o oftwT w@ Frdlgs g mwtve v ol s HFera
qa7 &7 SR "y WG T
m—g@m#‘ﬁwm#mhﬁmmﬁ#ﬁﬁrﬁvm&mm%m
mra#m-wa?waﬁﬂﬁﬁ%mﬁﬁ@ﬁﬁa?m-wﬂrmmwﬂ#ﬁ
vt & aam 0 & gy wYw
mm%mﬁmmmﬁﬁ#wﬁa@ﬁmqﬁﬁ

M FE

R A0 Th 0 & HYW A T 95 IR T S A2
mé‘ﬁwmmﬂmﬁ%mm#ﬂmmﬂﬂmﬁ#mwm
T 2wt 8, m) W G & arwd 139 MR e e & e f '
X% &% wda !ﬂ? N
% #4 & o wva- % & X FEm % ;
e i Jfew & Taye Y9 a1 IR-IR & sifem g
qﬂm&;méaaaﬁwmm-wwﬂmwﬁwmit
TR TR @ A 95 O A e Y B iy A

afe #¥ 3naef wier § R & wE
a.gwm,wm@;iﬁ“ & T w8, A 9 frvatamrer 7o A
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